

«

»

$$y'' + 2ny' + \omega_0^2 y = h \sin \omega t, \quad (1)$$

y - , n - , ω_0 - , h - , ω - , t - .

(1)

$$y'' + 2ny' + \omega_0^2 y = 0. \quad (2)$$

n - , n - .

$$r^2 + 2nr + \omega_0^2 = 0, \quad r = -n \pm i\sqrt{\omega_0^2 - n^2} = -n \pm i\Omega,$$

$$\Omega = \sqrt{\omega_0^2 - n^2}.$$

(2)

$$y = e^{-nt} (C_1 \cos \Omega t + C_2 \sin \Omega t). \quad (3)$$

$$y_1 = e^{-nt} \cos \Omega t, \quad y_2 = e^{-nt} \sin \Omega t. \quad (4)$$

Решение уравнения (1) ищем методом вариации произвольных постоянных (методом Лагранжа).

$$\begin{aligned} y(t) &= C_1(t)y_1(t) + C_2(t)y_2(t) = \\ &= C_1(t)e^{-nt} \cos \Omega t + C_2(t)e^{-nt} \sin \Omega t. \end{aligned} \quad (4.1)$$

$C_1(t), C_2(t)$

$$\begin{cases} C_1'(t)y_1(t) + C_2'(t)y_2(t) = 0 , \\ C_1'(t)y_1'(t) + C_2'(t)y_2'(t) = f(t) = h \sin \omega t . \end{cases} \quad (5)$$

$$y_1'(t) , \quad y_2'(t) \quad (4), \quad (5),$$

$$\begin{cases} C_1'(t)e^{-nt} \cos \Omega t + C_2'(t)e^{-nt} \sin \Omega t = 0 , \\ C_1'[-ne^{-nt} \cos \Omega t - e^{-nt} \Omega \sin \Omega t] + \\ C_2'[-ne^{-nt} \sin \Omega t + e^{-nt} \Omega \cos \Omega t] = h \sin \omega t \end{cases} ,$$

$$\begin{cases} C_1'(t) \cos \Omega t + C_2'(t) \sin \Omega t = 0 , \\ C_1'[-n \cos \Omega t - \Omega \sin \Omega t] + \\ C_2'[-n \sin \Omega t + \Omega \cos \Omega t] = e^{nt} h \sin \omega t \end{cases} . \quad (6)$$

$$C_1' , C_2'$$

$$C_1' = \frac{\Delta_1}{\Delta} , \quad C_2' = \frac{\Delta_2}{\Delta} . \quad (7)$$

$$\Delta = \begin{vmatrix} \cos \Omega t & \sin \Omega t \\ -n \cos \Omega t - \Omega \sin \Omega t & -n \sin \Omega t + \Omega \cos \Omega t \end{vmatrix} = \Omega ,$$

$$\Delta_1 = \begin{vmatrix} 0 & \sin \Omega t \\ e^{nt} h \sin \Omega t & -n \sin \Omega t + \Omega \cos \Omega t \end{vmatrix} = -he^{nt} \sin \omega t \sin \Omega t ,$$

$$\Delta_2 = \begin{vmatrix} \cos \Omega t & 0 \\ -n \cos \Omega t - \Omega \sin \Omega t & e^{nt} h \sin \Omega t \end{vmatrix} = h e^{nt} \sin \omega t \cos \Omega t ,$$

$$\begin{cases} C_1' = -\frac{h}{\Omega} e^{nt} \sin \omega t \sin \Omega t , \\ C_2' = \frac{h}{\Omega} e^{nt} \sin \omega t \cos \Omega t . \end{cases} \quad (8)$$

$$\begin{cases} C_1' = \frac{h}{2\Omega} e^{nt} (\cos \gamma t - \cos \delta t) , \\ C_2' = \frac{h}{2\Omega} e^{nt} (\sin \gamma t + \sin \delta t) , \end{cases} \quad (9)$$

$$\gamma = \frac{\omega + \Omega}{2} , \quad \delta = \frac{\omega - \Omega}{2} . \quad (10)$$

$$\int e^{ax} \sin nx dx = \frac{1}{a^2 + n^2} e^{ax} (a \sin nx - n \cos nx) ,$$

$$\int e^{ax} \cos nx dx = \frac{1}{a^2 + n^2} e^{ax} (n \sin nx + a \cos nx) .$$

$$\begin{aligned} C_1(t) &= \frac{h}{2\Omega} \cdot \frac{1}{n^2 + \gamma^2} \cdot e^{nt} (\gamma \sin \gamma t + n \cos \gamma t) - \\ &\quad - \frac{h}{2\Omega} \cdot \frac{1}{n^2 + \delta^2} \cdot e^{nt} (\delta \sin \delta t + n \cos \delta t) + k_1 , \end{aligned} \quad (11.1)$$

$$C_2(t) = \frac{h}{2\Omega} \cdot \frac{1}{n^2 + \gamma^2} \cdot e^{nt} (\sin \gamma t - \gamma \cos \gamma t) +$$

$$+ \frac{h}{2\Omega} \cdot \frac{1}{n^2 + \delta^2} \cdot e^{nt} (\sin \delta t - \delta \cos \delta t) + k_2 . \quad (11.2)$$

$$(11.1) \quad (11.2) \quad (4.1) .$$

$$y(t) = e^{-nt} (k_1 \cos \Omega t + k_2 \sin \Omega t) + \quad (12)$$

$$+ \frac{h \cos \Omega t}{2\Omega} \left\{ \frac{1}{n^2 + \gamma^2} (\gamma \sin \gamma t + n \cos \gamma t) - \frac{1}{n^2 + \delta^2} (\delta \sin \delta t + n \cos \delta t) \right\} +$$

$$+ \frac{h \sin \Omega t}{2\Omega} \left\{ \frac{1}{n^2 + \gamma^2} (n \sin \gamma t - \gamma \cos \gamma t) + \frac{1}{n^2 + \delta^2} (n \sin \delta t - \delta \cos \delta t) \right\} .$$

(1) .

,

:

©

, 2012